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Q.1(A) Choose the correct option: 4

(i) If the birth rate is greater than the death rate then the population
(@) decreases  (b) increases  (c) remains constant  (d) becomes surplus*

(if) Agricultural land, temporarily not in use is to......
(a) Preserve moisture content of the land
(b) Replace one crop with another
(c) Improve soil fertility
(d) All of the above

(iii) Migrations change the composition of the population in which of the following?
(@) The area from where they depart from
(b) The area of arrival
(c) The area of departure and arrival
(d) None of the above.

(iv) In which of these countries is land use on forests is more than on permanent agriculture?

(a) Brazil
(b) India
(c) Japan
(d) United States of America
(B) Match the column: 4
Column A Column B
1. Blue a. Barren
2. Yellow b. Forest
3. Green c. Industrial
4. Red d. Commercial
e. Residential
f. Agricultural
Q.2(A) Answer in One sentence: 4

(i) What details are recorded under the 7/12 extract?

(if) Name the major components of population growth.

(iii) What is the concept of the Central Business District?

(iv) Mention any two ways of improving the status of women in India.

(B) Tell whether right or wrong. Correct the wrong statement 4
(i) The population density of a region can be understood from its area.

(ii) The village attendant issues the 7/12 extract.*

(iii) Growth rate of the population is the difference between the birth rate and death rate.

(iv) Extract 12 indicates change in ownership.*

Q.3 Answer the following: 6

(i) If land is left fallow, or is not in use, then can it be termed as a kind of land use?*

(if) Write the advantages and disadvantages of low population or high population with reference to the
following factors.
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(iii) Even though areawise Rajasthan is a large state the population is less. Which geographical factor
may be responsible for this?*

Q.4 Read/observe the following map/picture and answer the following questions:
Land use in Japan 2011 Land use in India 2011
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1. In which country is the land under forests more?
2. In which country is the land under agriculture more?
3. Considering the two questions above, how will you relate the physiography and climate of India
and Japan with their respective land uses?
4. Correlate their land use and development.
5. Which land use is found in Japan?
6. Considering the land use in both the countries, make a list of factors affecting the land use.*

Q.5 Answer the following questions in detail: (Any One)
(i) What is the 7/12 extract? And, how is it read?
(if) Write note on: Literacy*



